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BACHELOR OF SCIENCE (B.Sc.) 
Term-End Examination 

June, 2014 

LIFE SCIENCE 

LSE-02 : ECOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any four 

questions from question nos. 2 to 6. 

1. (a) Define the following terms : 	 5 

(i) Natality 

(ii) Nekton 

(iii) Habitat 

(iv) Secondary pollutants 

(v) Succulents 
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(b) State whether the given statements are true 
or false : 	 2 

(i) Silky hairs on seeds help them to float 

in air. 

(ii) A detritus food chain operates through 

parasites. 

(iii) Succession initiated on a bare rock is 

termed xerarch. 

(iv) Addition of biodegradable matter 
relaxes the demand of oxygen in the 

water body. 

(c) Fill in the blanks : 	 3 

(i) It takes 	joules of energy to 
heat one gram of water from 4°C to 

5°C. 

(ii) During a nitrogen cycle the process of 

conversion of ammonia to nitrate is 

called 

(iii) 	 ultimately leads to 
problems like soil erosion, loss of 

nutrients and desertification. 
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2. Differentiate between the following : 	 10 

(a) Hygroscopic water and Capillary water of 

soil. 

(b) Hemicryptophytes and Cryptophytes 

(c) Parasitoidism and Cannibalism 

(d) People overpopulation and Consumption 

overpopulation 

3. Answer the following : 	 10 

(a) Discuss the causes of deforestation. 

(b) Describe the structure of a community. 

(c) Explain the concept of energy flow in an 

ecosystem. 

(d) "Air pollution is harmful to all living 

systems." Comment. 

4. (a) How do plants adapt to extreme 

temperatures ? 

	

(b) Write a note on biota of an ocean. 	 5 

5. (a) Describe various kinds of interspecific 

	

interactions within a community. 	 7 

(b) Comment on the human impact on sulphur 

cycle. 
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6. Write short notes on any four of the following : 	10 

(a) Adaptations in animals to aquatic 
environment 

(b) Soil texture 

(c) Ecotone 

(d) Carrying capacity 

(e) Age structure 
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1. () ri1-1R11-Zsid kiecl*t trfoTrir ?AR : 

(i) WAT 

(ii) mulch 

(iii) 31RR1 

(iv) ftt 	uTteh 

(v) 	Tr4iT-4,114 
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(-(§1-) cm14 -r--* PHk1RId -w?-R ?re 7IT gew : 	2 

(i) 41,111 'cr.(114-11-  c110 	11 4 Ak4 	iicq 

t 

(ii) 3itrT4 3177 5*M 	aq• (parasites) 

	t I 

(iii) t-A.  (bare rock) IR /.(,‘ 3TT 3.11:fut 

Twarilt 	t 

(iv) 14-1441,4*Jfk 	 sicet 

Ampiel 431Y-44t7-4 	TaTT 	tf z114) 

-41 

(ii) Fkm 	C -ttr-4R : 	 3 

(i) 'RR 70..0 4°C 5°C 	cht 

	 3,~5 t 

(ii) ii* l,31-1 	 api-11-44r 	r 	11Qe. 

4 ttfk.4-47 	cW1101 t 

(iii) 	 ai-dff: 1cl 3-TR-44, 4)4c, 

kift atIT 14R:2T-4r*-Tur 	3C4A 

z1141. I 
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2. -11-i 	ak clat*V : 

	 altduretTrT MIT *-1*-*-r 

(w) a l*RT4. ir.afr 

(Tr) TiTtarrirdr .astzrrTEr--4TRIATur 

(Er) Aitivei 	aiftwdr r 3771-1)Tr -ir 311w-dr 

3. ?AR : 

('j) 	.i""r fr4Vq1tlf-47 I 

(13) TFFR  	-‘11-A-R 

(Tr) trrf(-4q 	wo-rg 	 tili$11W 

('Er) "a15 mcoui 	.1.711.4 	 (living systems) 
-ichitch t I" r W2R 	TftkiT ttf* I 

4. () 	'Tri 	 smit aritt-da.  
? 	 5 

ctAid 	fffR§fR I 	5 

5. (W) 1.44 TIT<T4 WA. 	tr *KRIM 
lilwirket) 644134 	ti* I 	 7 

(w) Try 	+i1+4 VTR 1-ait-f* 

10 

10 
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6. .H1 	(VI f*Tei-  WM 	74.4q 	dui uleit 

fffkir47 : 	 10 

() 741-4 ti 414Rul ic"'R 	3TWOR.  

(w) 	Tr6.4 

(ii) 4161.4 

(•) 	 ugraT 

(-g) aTri 	 
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